ol UL Actl uedl Hsa, atitlletatR

Hsoll @A sHISs: 5¢/09519, Sellel diBls Heeo{lal, adl-3 cdledll L
R2/91/2015 ol A% HsM gLl AwcllHl WAA Wlot-Autel RUUlHs Al udlewl
yoldd ysllotl AR sclolloll NAPaAd wedR $l olA Yl ysadi wa 8. %
Wocld Bscl UIlatloll GREAWA dARgUl 518 13l dlal Al A cl. 0¢/2/204§ ol A%
WUWRell 19-00 $cls Yl Hsnal 3634l /7 2UA HIRSA %331 WURL UG 7 scl
ogRILclelLHL LA B.

%331 U ARe(l ¥ Gscl AHA H2AlEl olle Y SAcUHL WA Al kLol
AcllHl A o8l wA Hso gl 33 stelatdl s w3l AR §l YRg s3la
ALl slatél sla YRaHL M. Bofl URL GREWAN ol Al

o ' ] ] Correct
No. Option / Answer (With Options) Answer

1 In terms of revenue which is the highest non-life Insurance company ? (A) Allianz
(A) Allianz

(B) Berkshire Hathaway
(C) Munich Re Group

(D) State Farm Insurance

2 An endorsement follows a request for change/s in policy. Which of the (A) Change of insured’s
following not be a subject for an endorsement ? address

(A) Change of insured’s address
(B) Change in renewal date
(C) Increase in sum insured

(D) Cancellation of cover

3 Qaerdl 221 AR sl Rad A3 Gaaumi 2ud ] ? (D) 90 3
(A) &Rz 3

(B) do2aalac YU 3
(C) stsexdd

(D) el 3

4 Which policy provides cover for loss of gross profit due to stoppage of (A) Consequential loss policy
production ?

(A) Consequential loss policy
(B) Longterm policy
(C) Reinstatement value policy

(D) Declaration policy

5 YR Bl A cvll. @ ogdldl
(A)  siuRa
(B) deyzn
(C) wgdlel
(D) Guue




(A)
(B)
(C)
(D)

Cyber liabities cannot insure which of the following ?

Losses arising from hecking into the insured’s server
Liability for the insured spreading a virous to the third party
Deliberate malicious lies from the insured to third parties

Losses because third parties could not access of system

(€

Deliberate malicious lies
from the insured to third
parties

(A)
(B)
(C)
(D)

The claims loading applied to a policy is known as ................
claim bonus

claim malus

claim fides

claim minus

(B)

claim malus

(A)
(B)
(C)
(D)

AR AR o{l[Qcttet AR ALA dAiLetl sl 51 QA sl
el ?

Yol Al

Ry cl? Audl

EIMEICCRITIEETE

saalald Yotall

(D)

salalcld Yotall

(A)
(B)
(C)
(D)

When there is a possible claim, the insured must initially advise the
insurer within what time period ?

Immediately
1 week
2 weeks

1 month

(A)

Immediately

10

(A)
(B)
(C)
(D)

AR sA ST Foc Aol M2 AURAA D ?
RAs olatlalell

ABal \cadslR

(Qgct QrcdRal

AsURL ALY o2l

(B)

ALl \LadslR

11

(A)
(B)
(C)
(D)

The total of the actual loss and the consequential loss is known as the

Maximum probable loss
Probable maximum loss
Maximum possible loss

Minimum possible loss

(A)

Maximum probable loss

12

(A)
(B)
(C)
(D)

Spreading risks across are a which may not be affected equally or at the
same time is called .............

Diversification
Separation
Duplication

Transfer

(A)

Diversification

13

(A)
(B)
(C)
(D)

AL [QuReUA vd AOAA g2y - Aceuys HI2 As A6t WL
(s
Ran
(e
Rgict

(D)

Rgict




14

(A)
(B)
(C)
(D)

Where would an insurance company find guidelines on investing funds ?
There are no guidelines

IRDA Regulations

Company guideline

The Insurance Act

(D)

The Insurance Act

15

(A)
(B)
(C)
(D)

Many a man .......cceeeeeeee not know his own good deeds.
does

do

have

dose

(A)

does

16

(A)
(B)
(C)
(D)

How much is the minimum share capital requirement for TPA ?
4 crore

10 crore

50 lackhs to 250 lakhs

There is no minimum capital requirement

(A)

4 crore

17

(A)
(B)
(C)
(D)

Which institute conduct the professinal exam for actuariel science ?
Insurance institute of India

IRDAI

General insurance company

Institute of actuaries of India

(D)

Institute of actuaries of
India

18

(A)
(B)
(C)
(D)

asActoll A yaH (Quustueistl vituaislle] «itd weudl.
Hojellss wetlauet

SERURLY Hecll

$eotcllet tlaslau

AUAY AGUL

(B)

SCRURLY) H3

19

(A)
(B)
(C)
(D)

Replacement cost is paid for the property by the insurer under which
policy ?
Declaration policy

Reinstatement value policy
Floating policy

Consequential loss policy

(B)

Reinstatement value
policy

20

(A)
(B)
(C)
(D)

‘@ud - aiag A 58 30l Al - cvg-aiug - gEdall UsR
QUL ell.

CRETN

dcdHlatgéd

CIDELN

clAruge

(Qratdls e

21

(A)
(B)
(C)
(D)

To process a motor insurance claim which of the below document/s are
required ?

Registration Certificate Book

Police Report

Driving Licence

All of the above

(D)

All of the above




22

(A)
(B)
(C)
(D)

Satellite Insurance does not cover which of the following ?
Pre-launch insurance

Personal accident cover for crew

Orbit insurance

Third party liability

(B)

Personal accident cover
for crew

23

(A)
(B)
(C)
(D)

UM Rl uzal 12 AHLel «ldLRs YR (Uniform Civil Code) UScll
U2 GlURcloll GlHIRQoll Sl W RBDEUL WQUR] B ?

UAWE - 45

UAWDE - 44

UAWE - 16

WDE - 14

(B)

UWDE - 44

24

(A)
(B)
(C)
(D)

If the total premium is Rs. 50,000 and the limit of liability is Rs.
2,00,00,000 rate on line

0.025
0.0025
0.04
0.004

(B)

0.0025

25

(A)
(B)
(C)
(D)

AR ARHL AR ML RHUAA 8l-20 acfsu (332 gallRoeoll st AU
sl NElotdl uscltHl el sl ?

clotWd R[EaAH

gsel aUSel R(3AH

Rlezu REBAH

(3Aer 2w slect wRWEaAH

(B)

5501 oUSet R (SaAH

26

(A)
(B)
(C)
(D)

A fire deliberately caused by insured is called ..............
Immolation

Malicious damage

Deliberation

Arson

(D)

Arson

27

(A)
(B)
(C)
(D)

Separation and duplication are example of ..............
Consequential loss

Heading

Loss reduction techniques

Financial risks

()

Loss reduction
techniques

28

(A)
(B)
(C)
(D)

Q@Quw aoeol AR ©dl wsl.
ol + un
@ + ¥u
@ + uu
ol + uu

()

[a+%{3-{

29

(A)
(B)
(C)
(D)

ECGC is owned by ...............

GIC

All private and public life insurance
Government

All private and public general insurances

(€

Government




30

(A)
(B)
(C)
(D)

................. book you want is not available today.

An
The

none

(€

The

31

(A)
(B)
(C)
(D)

What are agreements between insurers and reinsurers known as ?
Quota shares

Excess of loss

Treaties

Pool arrangements

(B)

Excess of loss

32

(A)
(B)
(C)
(D)

Insurers protect the funds of the group by
Not paying for losses which are not accidental
Marking premium excessive

Paying all claims

Paying exaggerated claimy

(A)

Not paying for losses
which are not accidental

33

(A)
(B)
(C)
(D)

182 cdlcie’ (Public Administration) it (1At Ul s [@Ascu
ay AU § ?

Alsy et

AU aglae

URs3-agladl dat

GURlsd A A

(D)

GURscl QA

34

(A)
(B)
(C)
(D)

Which of the below cannot be an intermediary ?
Insurer

Insurance Broker

Agent

Bank

(A)

Insurer

35

(A)
(B)
(C)
(D)

“Uofy + YR’ Aceo(l AR AN
UojtiR
tlojtl?
ot
Eloftl?

(€

SCOE:

36

(A)
(B)
(C)
(D)

.............. expenses are incurred by the insured to minimise or avert a loss
coverd by the policy ?

Sue and labour charges
Salvage charges
Misellaneous charges

Non of the above

(A)

Sue and labour charges

37

(A)
(B)
(C)
(D)

Under moter insurance ambulance will be classified under which class ?
Goods carrying vehicles

Passanger carrying vehicles

Missellaneous vehicles

Private vehicles

(€

Missellaneous vehicles




38 MS Excel Ml 2toll 232t sl Rae(l A sauul A B ? (A) =
(A) =
(B) @
© &
(D) #
39 Underwriting process involves .............. (A)  Decission on risk
(A) Decission on risk acceptance acceptance
(B) Decission on staff recruitment
(C) Decission on investment
(D) Decission on employee benefit
40 Fill in the gap. Breeze : Cyclone :: Drizzle : .......cccceeuvuuss (D) Downpour
(A) Earthquake
(B) Storm
(C) Flood
(D) Downpour
41 Within the calculation of technical pricing there are a number of future (B) Claims made during the
trends the under writer need to consider-4 are given below which one is year
incorrect ?
(A) Inflation
(B) Claims made during the year
(C) Technolgy
(D) Legal changes
42 Which of the following describe quantum ? (B) The likely the cost of the
(A) The time the accident happned claim
(B) The likely the cost of the claim
(C) The number of claim
(D) The size of the cliam
43 AN sl Ui’ el cvl. - 955l sl ol & Qe 6l | (A) o
&dl.
(A) o
(B) @l
(€ ed
(D) oud
a4 If the cost of demage is being most using internal resources / funds howis | (D)  Retaining
the risk being managed ?
(A) Avoidance / Prevention
(B) Transfer
(C) Reduction
(D) Retaining
45 Plural form of ‘die (small cubes used in games)’ is ......ccccc..... . (A) dice
(A) dice
(B) dies
(C) dyes
(D) daise




46 The proposer pays a consideration to the insurance company for bearing (B) Premium
the risk on his behalf. What is this consideration known as ?
(A) Enroliment fee
(B) Premium
(C) Installment
(D) Bonus
47 Which of the following entities was nominated as the national reinsurer? | (C) General Insurance
(A) LC Corporation of India
(B) Oriental Insurance
(C) General Insurance Corporation of India
(D) New India Insurance
48 AR ARHL AUHELAUE vlld RMAA sl ac su-2016¢(l HlAald (B) N AW
AUl SAotoll el 3120to] ollid osRUCAL
(A)  s3w stesl
(B) Rzur Aw
(C) ot Héme
(D) AsHE g
49 What are accountability and corporate governance together called ? (A)  Ethics in business
(A) Ethics in business
(B) Freedom of information
(C) Publicinterest litigation
(D) Good governance
50 ‘@ dl HRLUWL UR £5dR cestell €lul & - Auid wrudl ©) Q
(A) W
(B) Rt
(C) dn
(D) A
51 Which of the following is the regulator of Insurance business in India (D) IRDAI
(A) General Insurance Company of India
(B) Life Insurance Corporation of India
(C) Insurance Institute of India
(D) IRDAI
52 Which of the below company is a specialist in health insurance ? (A) Max Bupa
(A) MaxBupa
(B) ICICI Lombard
(C) Bajaj Allianz
(D) HDFCErgo
53 cl™EL L5l 9%l AUl AL (Fectdl wAd ] ? € saqud
(A) otiiel
(B) e3u
(C) aaudl
(D) Yrd




54

(A)
(B)
(C)
(D)

Which policy covers damage to actual structure of the vessel ?
Marine cargo insurance

Marine hull insurance

Both of the above

None of the above

(A)

Marine cargo insurance

55

(A)
(B)
(C)
(D)

oA UENQL 2ol 6§ saul axfell URAHL wicy ?
1970
1974
1980
1985

(B)

1974

56

(A)
(B)
(C)
(D)

Erection all risk (EAR) policy also know as .............
Storage-come erection policy

P.R. costs involved in “disaster management”
Cover for “failure to perform”

Transportation of the defective product

(A)

Storage-come erection
policy

57

(A)
(B)
(C)
(D)

When we look at claim trends, we look at a number of facters some of

these are listed below. Which factor is not to be considered from this list ?

Inflation
Technology
Legal charges

Exposures

(D)

Exposures

58

(A)
(B)
(C)
(D)

23 Qg AAsW clsats] Y5 clisal gldl.
AR elaua B.

A eua B.

vl euadl s

e elaucta B.

(€

. eauacll e,

59

(A)
(B)
(C)
(D)

The sharing of a claim between two insurers is called .............
Subrogation
Contribution
Reinsurance

Reinstatment

(B)

Contribution

60

(A)
(B)
(C)
(D)

At that time he................. a novel for two months.
was writting

has been writing

had been writing

is writing

(€

had been writing

61

(A)
(B)
(C)
(D)

IBNR stands for what ?
Income before not reported
Incurred but not reviewed
Incurred but not reported

Investment before not result

(€

Incurred but not
reported

62

(A)
(B)
(C)
(D)

How much is the maximum foreign direct investment (FDI) allowed is
insurance in india ?

0.26
0.49
0.74
1

(A)

0.26




63

(A)
(B)
(C)
(D)

afeset AU Y HuriAl slHcdl weAeldat uzet sl gurld
Rl wWRRs Hdl al A 1R 58 Aol WUHAML Yl
uLl ?

Ratet 2l

UG 28l Al

DEERIEICTREYTE

HBAL QN u@utet

(A)

Ratet 2l

64

(A)
(B)
(C)
(D)

Life Insurance Corporation (LIC) was formed on .............
1st January, 1956

1st September, 1956

1st January, 1947

1st September, 1947

(B)

1st September, 1956

65

(A)
(B)
(C)
(D)

G 2oeoll uA [Qalel 2ce cvll.
Akl

yelld

AR

wWlela

(A)

AUl

66

(A)
(B)
(C)
(D)

Insurance Regulartory and development authority of India was constituted
by an act of parliament in year

1997
2000
1999
2004

(A)

1997

67

(A)
(B)
(C)
(D)

Maintaning customer satisfaction while policies are in force is called ....... .
Servicing activities

Customer orientation

Customer satisfaction

Customer identification

(A)

Servicing activities

68

(A)
(B)
(C)
(D)

R cHl (Fectl vlet ARA- vttt 5lQL A B ?
¥ d [Beatotl yeudl 1l

(Recll Uatdell Yyl

(el sAse?

(Recl [@Qstu w@sidl

(A)

% A (Bettoll yeldl
Al

69

(A)
(B)
(C)
(D)

Which is the correct statement ?

107 insurers were amalgamated into 4 Psus
57 insurers were amalgamated into 4 Psus
145 insurers were amalgamated into 4 Psus

70 insurers were amalgamated into 4 Psus

(A)

107 insurers were
amalgamated into 4 Psus

70

(A)
(B)
(C)
(D)

Bcla adladl Yurrl YA dell 1511 AdalAHl jA»U Holisa Jeal
yele] Aviclofl el 531 ] 2

(Quistuetto{l et Avaell 10 2518l 15 25l

Quistueits{l ue Avulell 20 251

(Quistueus(l e Avaulsil 5251

VOLHL AL 20 ueAl

(A)

Qutateisl dex
Aullell 10estell 15
esl




71 In private moter insurance separate rate apply for vehicles below and (C) 1500 CC
above ........cceeent .
(A) 2000cC
(B) 1800cC
(C) 1500ccC
(D) 1200ccC
72 The maximum amount that an insurer wishes to keep on any risk is known | (B) Retention
as what ?
(A) capacity
(B) Retention
(C) Maximum limit
(D) Ceding amount
73 88 UlsciMl As Aceall A e A2 dl sl WEASR olal B. (A oy
(A) e@u
(B) otoat
(C)  casrg@
(D) 3us
74 Pure premium is define as which of the following ? (A) Total amount of claim
(A) Total amount of claim incurred per year divided by the number of incurred per year divided
exposure unit by the number of
(B) Total amount of claim divided by premium exposure unit
(C) Total premium divided by the total claims
(D) Total premium divided by the number of exposer unit
75 Give past tense form of: ‘Tread’ (A) Trod
(A) Trod
(B) Trode
(C) Troden
(D) treaded
76 Which of the following is an ex-gratia payment ? (A)  Payment made when risk
(A) Payment made when risk not coverd under policy not coverd under policy
(B) Payment made when policy voided
(C) Payment made when policy cancelled
(D) None of these
77 As per premium investment guideline by IRDA, investment in central (A) 0.2
government securities should not be less than ...............
(A) 0.2
(B) 0.15
(C) o1
(D) There are no such guidelines and insurnace companies can invest the
premium collected the way they want to invest.
78 oAt U101l 3Gl setlell Gl ddl3ell sl eund (B)  ucleuss wuRaL
H{ollslle] otint wwguAl.
(A)  ougeus oullRau

(B)
(C)
(D)

A Matenss ARl
Relluguz s8R
wifdeus saldal




79

(A)
(B)
(C)
(D)

There are 700 car owners in city. On an average it is expected that 2% of
the car or 14 car are likely to meet with an accident. It is expected the loss
suffered by each of the 14 car owner will be Rs. 15,000. How much will be
the premium required to be contributed each of the car owners to cover
the losses ?

Rs. 100
Rs. 200
Rs. 300
Rs. 400

(€

Rs. 300

80

(A)
(B)
(C)
(D)

UUAA Utoll AR AEASIR Wauldl. - dA ude 53¢ uat well
(@Qstiqf B.

AN

cu(dRs

GuHl

Gaal

(A)

AN

81

(A)
(B)
(C)
(D)

Insurance manages risk in which of following ways ?
Transfer

Retention

Reduction

Avoidence / Prevention

(A)

Transfer

82

(A)
(B)
(C)
(D)

What is the terms used to describe the work output of one department
being and input for the work of another department in the same
organisation and the interrelationship of the department ?

External Customer
Peers
Policy holder

Internal customer

(D)

Internal customer

83

(A)
(B)
(C)
(D)

A%2Ao{l Sl UEIA A oltRRLell 52Ul WBDE d60 o{lUAL MELAA
UR 2UR Autclloll ARSIR/AUT B ?

UYWE - 226

WA WDE - 217

WY WE - 32

U WE - 227

(D)

W DE - 227

84

(A)
(B)
(C)
(D)

A reinsurance company that buys reinsurnace is know as ..............
Retrocedent

Retrocessionaire

Non of the above two

Insurer

(A)

Retrocedent

85

(A)
(B)
(C)
(D)

ollet U Azoll QoL (Bt 4503. B. % ol sl Aeofl (Eud 3. 310
ay da d oleoll Bud decll aa ?

140 3.

903.

130 3.

703.

(D)

70 3.




86

(A)
(B)
(C)
(D)

Which type of fire policy covers stock at various location under one sum
insured ?

Delaration policy
Floating policy
Long term policy

Consequential loss policy

(B)

Floating policy

87

(A)
(B)
(C)
(D)

In case of motor insurance which document is considered only evidence of
existance of a valid insurance by policy authorities and R.T.O. ?

Policy document
Certificate of insurance
Cover notice

Insurance notice document

(B)

Certificate of insurance

88

(A)
(B)
(C)
(D)

UESH ua Uedale 3U gdlell el
ALUGL AUlef§Acll Yol ALY 52
UAY 53 B AWUGN Aol Yol
Ulods0Lll Yol ALY 53 B cAlUQl
AUGN ALY $2 B AlefsAcll Yol

(A)

ARG AlegNcll Yool
U 52 B

89

(A)
(B)
(C)
(D)

Which one of the following is not one of the prime hazards and
underwriter looks at ?
Financial

Moral
Risk
Physical

(€

Risk

90

(A)
(B)
(C)
(D)

Rearrange the jumbled words / phrases into a meaningful sentence.
performance of / the energy / bring forth / my task / will / for / required /
they / the.

They will bring for the energy required forth the performance of my task.
They will bring energy required for the forth perfomance of my task.
They will bring forth the energy required for the performance of my task.

They required the energy for the forth perfomance of my task, will bring.

(€

They will bring forth the
energy required for the
performance of my task.

91

(A)
(B)
(C)
(D)

Which of the following does not form part of “Book” price calculation ?
Claim cost

Management expenses

commission

investment income

(D)

investment income

92

(A)
(B)

(C)
(D)

Vivek’s car collides with another car and the other car’s driver is injured.
Who will pay the claims of the other driver ?

Vivek will pay from his own pocket

The other driver will have to pay on his own for the treatment costs as he
does not have any insurance

Third party insurance pool

Vivek insurance company

(€

Third party insurance
pool

93

(A)
(B)
(C)
(D)

& Ale 32cll 3reqf sl B ?
18
20
24
22

(€

24




94

(A)
(B)
(C)
(D)

How did risk management formally evolve ?
As a function of business enterprise

As a function of debt collectors

As a function of financial lending

As a function of investment organisation

(A)

As a function of business
enterprise

95

(A)
(B)
(C)
(D)

WA alsel U2 AU @Qseuigll AQuet3ld wa ettdilel s(RA Ys
clsd AUl - R gl Ul A5 AUYARA Aol HIQA Scll.
2cRY olgalel H3AL As WYAUARA Ux%sal cll.

As olgclld M3l 2cRE U WYARA &cll.

2ol dgAld HEL UAs AUYUR A USatHioll WS scll.

2clolRe olgAlE HEAL A 9Bl HRLCLAL HIRLY &dll.

(A)

el dgdld Ul
s AYARA Ual
&dll.

96

(A)
(B)
(C)
(D)

The purpose of Insurance is to ........cccceeeeueeeee

Bring people who are exposed to similar risks together
Pay claims

Collect premium

All of above

(D)

All of above

97

(A)
(B)
(C)
(D)

In which regulations are the code of ethics directed towards ethical
behaviour spelt out ?
Government

IRDA
Insurance Advisory Committee

Insurance Institute of India

(B)

IRDA

98

(A)
(B)
(C)
(D)

MS Word o{l &l GURell oML Slall HAdl S| AlSela 9 53 B ?
lged R

AojollR

2IRSUIR

RUUR

(A)

elTeAAR

99

(A)
(B)
(C)
(D)

Which of the following pool is not managed by GIC ?
Third party motor pool

Terrorism pool

Fire catastrophe pool

Marine hull pool

(€

Fire catastrophe pool

100

(A)
(B)
(C)
(D)

UHELAE RAA otitflausiH (RUeRU AL wstH)of (MRl sel? scuul
LR ?

1915

1917

1919

1922

(B)

1917

101

(A)
(B)
(C)
(D)

Under personal accident insurance in case of loss of one limb or one eye
how much compensation wiil be payable ?

50% of capital sum insured
75% of capital sum insured
100% of capital sum insured

25% of capital sum insured

(A)

50% of capital sum
insured




102

(A)
(B)
(C)
(D)

Excess of loss reinsurance is type of ............. reinsurance.
Proporaional

Non proporational

Surplus

Quota share

(B)

Non proporational

103

(A)
(B)
(C)
(D)

AR 1.l eadal.
dRa
QR
llelld
da

(B)

Q@

104

(A)
(B)
(C)
(D)

ABC building is insured for Rs. 12 crore and the machinery for Rs. 300
crore. The true value are Rs. 18 crore and Rs. 400 crore respectively. There
is serious fire and building suffer damage to the tune of Rs. 10 crore and
machinery Rs. 3.6 crore. What is payable amount ?

Rs. 8.10 crore
Rs. 9.36 crore
Rs. 9.28 crore

Rs. 3.6 crore

(B)

Rs. 9.36 crore

105

(A)
(B)
(C)
(D)

Use proper conjunction: | don’t konw ................... he has gone.
weather

whether

wheather

wether

(B)

whether

106

(A)
(B)
(C)
(D)

In insurance business general accounting must be in line with which of the
following ?

Accounting standards issued by the ICAI
GAAP standard risk
International Accounting standards

Insurance Regulatory and development authority (Investment) regulations

(A)

Accounting standards
issued by the ICAI

107

(A)
(B)
(C)
(D)

The process of finding others who are exposed to similar risk and willing
to share therisk is :
Reduction

Avoidance / Prevention
Transfer

Retention

(€

Transfer

108

(A)
(B)
(C)
(D)

QR wiglds v wal Asl wenrad ygisel aAU ..............
5

3

4

1.5

(D)

109

(A)
(B)
(C)
(D)

In which year IRDA was set up ?
1998
1999
2000
2001

(B)

1999
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(A)
(B)
(C)
(D)

ARA Asell ealial.
RESNETE |
REETGE
vlRustd?
RESTETE

(B)  Llaustc3
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(A)
(B)
(C)
(D)

In motor Insurnace, Form a policy form covers
Act liability

Own damage losses

Act liability and own damage losses

Only third party lossed

(A)  Act liability

112

(A)
(B)
(C)
(D)

The two main source of income for an insurance company are
underwriting income and .............. income.

Claim salvage
Risk management
Reinsurance commission

Investment

(D) Investment

113

(A)
(B)
(C)
(D)

MS Excel $2L Us(Rall YU & ?
Yoot

ad WAXR

qsale

$2la»

€@  Qsalle
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(A)
(B)
(C)
(D)

Reserve for unexpired risks come under the heading of which of the
following ?

Accounting reserve
Technical reserves
Unexpaired premium

Asset liability reserve

(B) Technical reserves

115

(A)
(B)
(C)
(D)

Rad ds wls SR gLl A YAH ¢slR WSH M3eUHl YHIA 24
ol A101R, 2016 YL HL A scBAlMUl Aosoll 5162 GURY| HetM
32cll Rsuoll Guis As s wicHiell slsurl calset s31 aws ?

3. 20,000/-

3. 10,000/-

3. 2,000/-

3. 4,000/-

(A) 3. 20,000/-

116

(A)
(B)
(C)
(D)

How are risks measured ?

The cost of actual loss

The cost of consequetial loss

The likely loss that may occur if peril strikes

The likehood for peril striking

(C)  The likely loss that may
occur if peril strikes

117

(A)
(B)
(C)
(D)

In case of micro insurance up to what amount can insurer issue a policy ?
Rs. 5,00,000

Rs. 50,000

Rs. 1,00,000

Rs. 75,000

(C) Rs.1,00,000
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(A)
(B)
(C)
(D)

‘saall get U %¥g - @Y ud ealdl
Rl ysd a8 %q

SIH UWR usq

R YScl UG

guell gesl Anadl

(A)

Rl Y5 us g
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(A)
(B)
(C)
(D)

Section 140 of the motor vehicles Act 1988, provide for liability of the
owner of the motor vehicle to pay compensation in certain cases, on the
principle of no fault how much is the compensation payable for death in
such case ?

Rs. 10,000

Rs. 25,000
Rs. 50,000
Rs. 1,00,000

(€

Rs. 50,000
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(A)
(B)
(C)
(D)

Select single word for the following phrase: “That which cannot be rubbed
off”

Incredible
Indelible
Inedible
Irrubbable

(B)

Indelible

121

(A)
(B)
(C)
(D)

Which of the following statement is false ?

Coinsurance is the sharing of risk between insurers

The insurers has contractual relationship with the reinsurer
The reinsurer is the insurer of the insurer

The insured has contractual relationship with the reinsurer

(D)

The insured has
contractual relationship
with the reinsurer
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(A)
(B)
(C)
(D)

Insurers follow two premium insurance styles. Asset liability management

Modern portfolio theory
Modern profit theory
Multiple portfolio theory
Multiple profit theory

(A)

Modern portfolio theory

123

(A)
(B)
(C)
(D)

sllacllR URERRLS AV SoHUN ¥R
clusdl

Goll

vielld

gl

(A)

dlusl
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(A)
(B)
(C)
(D)

The responsibility on proving the claim is coverd rest with ..........
The third party

The insurer

The insured

All of the above

(€

The insured

125

(A)
(B)
(C)
(D)

B HEUL S2cll e B ?
17
19
21
31

(€

21
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(A)
(B)
(C)
(D)

Life Insurance Companies cover which types of risk ?
Risk of unexpected early death

Risk of living too long

Both of the above (A) and (B)

Non of the above

(€

Both of the above (A)
and (B)

127

(A)
(B)
(C)
(D)

What is the treatment to be given to the difference between revenue and
expenses ?

It is included as profit
It is paid to shareholder in the form of dividends
It is held in reserve to cover claim cost

It is return to policy holders

(€

It is held in reserve to
cover claim cost

128

(A)
(B)
(C)
(D)

g AUell HIUWRU Beata (1A gldc (Beadl Ul sau
Rccloll s€ 2uddl otell 2

uleel

olollsisl

alitllstorR

wRecel

(D)

wRaccl
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(A)
(B)
(C)
(D)

What is the foundation of good governance ?
Ethical behaviour

Having little concern for others

Being honest

A high concern for self

(A)

Ethical behaviour

130

(A)
(B)
(C)
(D)

Gl well Y - el YAstl 58 U W2 Uil 2 & ?
sctouyull udd, Y Aal gs10
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(€

YR, Yotdl, vt
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(A)
(B)
(C)
(D)

The risk engineer is known as which of the below ?
The eyes of the insurer

The eyes of the underwriter

The arm of the underwriter

The arm of the claims expert

(B)

The eyes of the
underwriter
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(A)
(B)
(C)
(D)

Which insurance relates to the installation of plant or machinery ?
Computer Insurance

Erection all risks

Machinery Breakdown

Electronic equipment insurance

(A)

Computer Insurance

133

(A)
(B)
(C)
(D)

Yecll Heoll QL] Yo el
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(A)
(B)
(C)
(D)

In case of individual agents, for how many years is the licence issued by
the IRDA is valid ?

For lifetime
1 year
2 year
3 year

(D)

3 year

135

(A)
(B)
(C)
(D)

Give synonym of: ‘Grant’
Confer

Take

Infer

None

(A)

Confer

136

(A)
(B)
(C)
(D)

Importers and exporters facing risks related to foreign trade are covered
by whom ?

Insurance Regulatery Development Authority (IRDA)

Deposit Insurance and Credit Guarantee Corporation (DICGC)

Expert Credit and Guarantee Corporation (ECGC)

Life Insurance Corporation (LIC)

(€

Expert Credit and
Guarantee Corporation
(ECGC)
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(A)
(B)
(C)

(D)

Leakage relate to which of following ?
Water leaking from damage pipe
Cash losses from employee embezzlement

Relate to claims losses which can be recoverd through suborgation excess
etc
Drop in claim resorve

(€

Relate to claims losses
which can be recoverd
through suborgation
excess etc

138

(A)
(B)
(C)
(D)

2 cm BluLalon ANaLe Yo = ................. X 2 cm el Lol dlale]
SLETR

1

2

4

8

(D)
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(A)
(B)
(C)
(D)

Political upheaval or government suddenly losing voting of confidence will
be classified as which type of risk ?

Daynamic risk
Static risk
Particular risk

Financial risk

(A)

Daynamic risk

140

(A)
(B)
(C)
(D)

YUIRsctell Aolloll bl sl el Odl Wellell GUR 6ldel Ulal
ALEWS KA AAAYU cAsc scll Yol AR u8 el ol 3l
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|

141

(A)
(B)
(C)
(D)

Which of the following is not a step in risk management ?
Risk Assessment

Risk Evaluation

Risk Transfer

Risk Pricing

(D)

Risk Pricing
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(A)
(B)
(C)
(D)

In reinsurance terms a treaty condition stating that the insurer’s loss must
exceed a certain limit for the reinsurer to get involved is called .............. .

Excess of loss
Quota share
Coding

Pool management

(A)

Excess of loss

143

(A)
(B)
(C)
(D)

3.5 {le? Bxalcal 30 Hl2? GL1S1 As «lous2 vitsl vlectul wud B.
aAuiell ollshcll wdluiell 30 HleR doue ua 10 Hl2: uslougaAl
AHAN B2Al HollalclHl w1 B. dl A 32l QA W2 ot ?
3.85 {22

2.28 2R

0.385 le?

3 Hle?

(A)

3.85 Hle?
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(A)
(B)
(C)
(D)

Who does the pricing of insurance products ?
Surveyor

Loss Assessor

Risk Engineer

Actuary

(D)

Actuary

145

(A)
(B)
(C)
(D)

%l PRABA 26Ea 27595 515 olo1? glRl €lclcllil wld wal THILAK
AcEa 368451 815 &l £lcictml WA dl BHARATI 2c€qll 8S 9
AU AHL 2 ?

9567568

9675538

9567538

9657538

(D)

9657538
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(A)
(B)
(C)
(D)

How much is the minimum prescribed capital for a composite broker ?
Rs. 50 lakhs

Rs. 100 lakhs

Rs. 200 lakhs

Rs. 250 lakhs

(D)

Rs. 250 lakhs

147

(A)
(B)
(C)
(D)

When did general insurance corporation of India (GIC) commence business
operations ?
1970

1971
1972
1973

(€

1972

148

(A)
(B)
(C)
(D)
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(A)
(B)
(C)
(D)

When insurance companies undercut each other to grab market share by
reducing premiume it is known as ............

Soft Market
Hard Market
Competitive Market

Non of the above

(A)

Soft Market

150

(A)
(B)
(C)
(D)

If the doctor had come earlier, the patient................ (can + to save)
could have been saved

could save

can be saved

can have saved

(A)

could have been saved




